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const int MAXN=1e5+5,MAXM=60;
struct Node
int ch ,cnt;
node [ MAXN*MAXM] ;
int root[MAXN|,node cnt;
void push up(int
k) {node[k!.cnt=node[node[k].ch .cnt+node[node|k].ch .cnt;
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void update(int &k,int lef,int rig,int pos
k=++node cnt;
node| k| .cnt++;
lef==rig ;
int mid=lef+rig>>1;
mid>=pos
update(nodel|k].ch , Llef,mid, pos) ;

update(node|k].ch ,mid+1,rig,pos);

int query(int k,int lef,int rig
int mid=lef+rig>>1;
lef==rig mid;
node (k! .ch
query(nodel|k].ch , lef,mid) ;

query (node k| .ch ,mid+1,rig);

void Merge(int &k1,int k2,int lef,int rig
'k1| | 'k2 kl|=k2,void();
lef==rig node|[kl!.cnt+=node k2].cnt,void();
int mid=lef+rig>>1;
Merge(node|kl].ch ,hode k2| .ch , lef,mid) ;
Merge(node|kl]|.ch ,nhode k2| .ch ,mid+1,rig);
push up(kl);

void split(int &k1l,int &k2,int
node[kl!.cnt==k .
k2=++node cnt;

k<=node|node[kl].ch .cnt
node k2] .ch =node|kl].ch o
node/kl|.ch =0;

split(node/kl].ch ,hode[k2].ch JK)

split(node|kl].ch ,nhode[k2].ch ,k-node | node[kl]|.ch
push up(kl);push up(k2);

struct seg
int lef,rig,rev;
bool operator < (const seg &b)const
lef<b. lef;

seg(int lef,int rig,int rev):lef(lef),rig(rig),revirev
seg(int pos){lef=pos;

set<seg> s;

typedef set<seg>::iterator iter;

iter split2(int pos
iter it=s.lower bound(seg(pos));

.cnt);
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it!=s.end()&&it->1lef==pos it;
--it;
int lef=it->lef,rig=it->rig, rev=it->rev;
rev
split(root|/lef],root|[pos!,rig-pos+1);
swap(root|lef],root|/pos!);

split(root|lef|,root/pos|,pos-lef);
s.erase(it);s.insert(seg(lef,pos-1,rev));
s.insert(seg(pos,rig,rev)).first;

int main

int n=read int(),m=read int();
_rep(i,l,n)update(root/i/,1,n,read int ,S.insert(seg(i,1i,
m__
int opt=read int(),lef=read int(),rig=read int();
iter r=split2(rig+1),l=split2(lef);

iter it=++1;it!=r;++it)Merge(root|lef|,root|[it->lef],

s.erase(--1,r);
s.insert(seg(lef,rig,opt));

int p=read _int();
split2(p+1);split2(p);
enter(query(root|pl/,1,n));
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const int MAXN=3e5+5,MAXM=60,Mod= ;
int quick pow(int a,int b
int ans=1;
b
b&1 )ans=1LL*ans*a%Mod;
a=1LL*a*a%Mod;
b>>=1":

’

ans;

const int inv=quick pow ,Mod-2);
struct Node
int ch ,S, lazy;
void add lazy(int v
s=1LL*s*v%Mod;
lazy=1LL*lazy*v%Mod;

node [ MAXN*MAXM | ;
int root/MAXN|,node cnt;
void push down(int k
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node[k]|.lazy!=

node | node k| .ch .add lazy(node[k].lazy);
node node k! .ch .add_lazy(node[k].lazy);
node k] .lazy=1;

void push up(int
k) {node|k].s=(node[nodelk].ch .s+nodenode k]| .ch .S )%Mod;
void update(int &k,int lef,int rig,int pos
k=++node cnt;
node|k|.lazy=node (k| .s=1;
lef==rig C
int mid=lef+rig>>1;
mid>=pos
update(node|k].ch , lef,mid, pos) ;

update(nodel|k].ch ,mid+1,rig,pos);

int n,temp p,p/MAXN!,m;
void Merge(int &k1,int k2,int lpre,int lsuf,int rpre,int rsuf

Ik1&&! k2 ;

k1&&Kk2

push down(kl);push down(k2);

int tl=node|[node(kl]|.ch .S,t2=node[node k2].ch .S;
Merge(node|/kl]|.ch ,hode k2] .ch , Lpre, (Lsuf+node|[node kl|.ch
rpre, (rsuf+node|[node k2| .ch .S )%Mod ) ;

.S )%Mod,

Merge(node kl].ch ,nhode[k2].ch , (lpre+tl)%Mod, Lsuf, (rpre+t2)%Mod, rsuf) ;

push up(kl);

kl)node|kl].add lazy((1lLL*rpre*temp p+1lLL*rsuf*(Mod+1-
temp p))%Mod) ;

node| kl=k2]|.add lazy((1lLL*lpre*temp p+1LL*lsuf*(Mod+1-

temp p))%Mod) ;

struct Node 2

int ch ,V;
node2 [MAXN] ;
void dfs(int k
Inode2[k].ch
update(root|/k!,1,m,node2[k!.v);
Inode2[k].ch

dfs(node2[k].ch ;
root | kl=root [ node2[k].ch ;

dfs(node2[k].ch ;dfs(node2[k].ch ;
temp p=node2 k!.v;

root | kl=root |/ node2[k].ch ;
Merge(root|k]|,root[node2 k!.ch ,0,0,0,0);
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int dfs2(int k,int lef,int rig

Ik o
push down (k) ;
int mid=lef+rig>>1;
lef==rig 1LL*mid*p[mid |%Mod*node| k]| .s%Mod*node k| .s%Mod;

dfs2(nodelk]|.ch , lef,mid)+dfs2(node k! .ch ,mid+1,rig) )%Mod;

int main
n=read_int();
_rep(i,1,n
int f=read_int();
f
node2|f|.ch node2  f|.ch[1]=1i;
node2[f|.ch[0]=1i;
_rep(i,1,n
node2/i|.v=read int();
node2/il.ch node2/il.v=1LL*node2[i].v*inv%Mod;
pl++m/=node2[i].v;
sort(p+l,p+m+l);
m=unique(p+1,p+m+1l)-p;
_rep(i,1,n 'node2[1i].ch
node2|i|.v=lower bound(p+1,p+m,node2[i].v)-p;
dfs ;

enter(dfs2(1,1,m));
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#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#define

using nam
typedef 1
inline in

<iostream>
<cstdio>
<cstdlib>
<algorithm>
<string>
<sstream>
<cstring>
<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>
<cassert>

for(i,a,b) for(int i=(a);i<(b);++i)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
#define mem(a,b) memset(a,b,sizeof(a))

espace std;
ong long LL;
t read int

int t=0;bool sign=false;char c=getchar

inline LL

lisdigit(c)){sign|=c=="-";c=getchar
isdigit(c)){t=(t<<l)+(t<<3)+(c&l5);c=getchar

sign?-t:t;

read LL

LL t=0;bool sign=false;char c=getchar

inline ch
char

inline vo

register char c[21],len=0;
putchar('0’

I'x
X<

lisdigit(c)){sign|=c=="-";c=getchar
isdigit(c)){t=(t<<l)+(t<<3)+(c&l5);c=getchar

sign?-t:t;
ar get char
c=getchar();
C==I
O

id write(LL x

0)x=-x,putchar('-"

X)cl++len|=x%10,x/=10;
len)putchar(c/len--+48);

"I |Jc=="\n"||c=="\r")c=getchar

inline void space(LL x){write(x),putchar(’
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inline void enter(LL x){write(x),putchar('\n');
const int MAXN=1e5+5,MAXM=40;
struct Edge
int to,next;
edge [ MAXN<<1];
int head MAXN|,edge cnt;
void Insert(int u,int v
edge|++edge cnt|=Edge{v,head|u]};
head|u/=edge cnt;

namespace LCA

int d/MAXN|,sz/MAXN|, fIMAXN;

int h_son[MAXN|,mson[MAXN!|,p MAXN/;

void dfs 1(int u,int fa,int depth

szlul=1;flul=fa;d/u/=depth;mson u|=0;
int i=head|u;1i;i=edge|i].next
int v=edgel[i].to;
v==fa

;

dfs 1(v,u,depth+1);

szlul+=sz[v];
sz[vi>mson|u

h sonlul=v,mson|ul=sz|v];

void dfs _2(int u,int top
plul=top;
mson|ul)dfs 2(h son|ul,top);
int i=head/ul;i;i=edgeli].next
int v=edge([i].to;
v==f[ul||v==h_sonlu

dfs 2(v,v);

void init(int root){dfs 1l(root,0,0);dfs 2(root,root);
int query lca(int u,int v
plul!=plv
diplull<dlplv!])swap(u,v);
u=flplull;

diul<d[v]?u:v;

struct Node
int ch ,val;
node [ MAXN*MAXM | ;
int node_cnt;
int nodecopy(int k
node|++node cnt|=nodelk];
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node cnt;
void update(int &k,int p,int lef,int rig,int pos
k=nodecopy(p);
node| k| .val++;
lef==rig
int mid=lef+rig>>1;
mid<pos
update(node k| .ch ,hode[p!.ch ,mid+1,rig,pos);
update(node|k].ch ,hode[pl.ch , Llef,mid, pos);
int query(int kl,int k2,int k3,int k4,int lef,int rig,int rk
int mid=lef+rig>>1;
lef==rig
mid;
int
lcl=node|[kl].ch , Lc2=node k2] .ch , Lc3=node k3] .ch , Lc4=node k4 ].ch
int lz=node/lcl|.val+node/lc2].val-node|[lc3|.val-node|[lc4].val;
rk>1z
query(node|kl]|.ch ,hode k2] .ch ,hode k3] .ch ,nhode k4] .ch ,mid+1,rig

,rk-1z);

query(node|kl]|.ch ,hode k2] .ch ,hode k3] .ch ,hode| k4
K);

int a/MAXN|,b[MAXN|, root MAXN|,n2;
void dfs(int u,int fa
update(root/u!,root|(fal,1,n2,alul);
int i=head|u];i;i=edge|i].next
int v=edgel[i].to;
==fa ;
dfs(v,u);

int query2(int u,int v,int k
int lca=LCA::query lca(u,v);
query(root|ul,root|v],root|/lcal,root/LCA::f[lca

int main

int n=read int(),m=read int();
_rep(i,l,n)alil=b[i]=read int();
sort(b+1,b+n+1);

n2=unique(b+1,b+n+1)-b;
_rep(i,1l,n)alil=lower bound(b+1,b+n2,ali])-b;
_for(i,1,n

.ch , Llef,mid, r

’ Inzlk ;
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int u=read _int(),v=read int();
Insert(u,v);Insert(v,u);

LCA: :init(1);
dfs(1,0);
int last=0;
m__
int u=read int()”~last,v=read int();
enter(last=b[query2(u,v,read int ;

0;
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ug

0000000 $n$ 00000000000000 $[1.1,r1]$0 $[.2r21$0000000 $hin
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0000000 $s000000n0000oooan $\floor\frac {r-1+1}2\rfloors OO O OO OODODO
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HEN

O0D0D0O0O00ODDDODODO $x$0000 $x$ 0000 $-1$0000000 %1$000 $x$ 000000
000000000000 0D00O0 s0s0

00 $[r141,2-11$00000000 $[l1,r1]$000000 $[12r21$000000000000
0ooooo

0000 $x$0$x+1$0000000000000000000O0O0O0O0O0ODO0O0O0O0O0O $x+1$00
00000000 $x$00ooooogoooo
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#define lch(k) node[node[k].ch[0]]
#define rch(k) node[node[k].ch[1]]

const int MAXN=2e4+5,MAXM=40;

struct Node

int chi2],pre,suf,sum;

node [ MAXN*MAXM] ;

int alMAXN|,b[MAXN|, root [MAXN|,node cnt;
vector<int>c[MAXN];
void push up(int k
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node k! .pre=max(lch(k).pre,lch(k).sum+rch(k).pre);
node[k].suf=max(rch(k).suf,rch(k).sum+lch(k).suf);
node k| .sum=lch(k).sum+rch(k).sum;

void build(int &k,int lef,int rig
k=++node cnt;
lef==rig
node|k].sum=node|[k|.pre=node k| .suf=1;

.
1

int mid=lef+rig>>1;
build(node|k].ch ,lef,mid) ;
build(node[k].ch ,mid+1,rig);
push up(k);

void update(int &k,int p,int lef,int rig,int pos
k=++node cnt;
node|k|=node(p];
lef==rig
node k! .sum=node|k|.pre=node|k]|.suf=-1;

I

int mid=lef+rig>>1;
mid>=pos
update(node|k].ch ,hode[p].ch , Llef,mid, pos) ;

update(node k| .ch ,nhode[p!.ch ,mid+1,rig,pos);
push up(k);
int query sum(int k,int L,int R,int ql,int qr
ql>qr ;
gl<=L&&R<=qr node k| .sum;
int M=L+R>>1;
M>=qr query sum(node/k!.ch ,L,M,ql,qr);
M<ql query sum(node/k]|.ch ,M+1,R,ql,qr);

query sum(node/k!|.ch ,L,M,ql,qr)+query sum(node/k!.ch ,M+1,R,ql,qr);

pair<int,int> query pre(int k,int L,int R,int ql,int qr

gl<=L&&R<=qr make pair(nodel(k|.pre,nodelk].sum);
int M=L+R>>1;
M>=qr query pre(node(k!|.ch ,L,M,ql,qr);
M<qgl query pre(node/k!.ch ,M+1,R,ql,qr);

pair<int,int>
l=query pre(node(k|.ch ,L,M,ql,qr),r=query pre(node/k]|.ch ,M+1,R,ql,qr
'S
s.first=max(l.first,l.second+r.first);
s.second=1.second+r.second;
S;
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pair<int,int> query suf(int k,int L,int R,int ql,int qr

gl<=L&&R<=qr make pair(nodel(k|.suf,nodelk].sum);
int M=L+R>>1;
M>=qr query suf(nodelk!.ch ,L,M,ql,qr);
M<ql query suf(node/k!.ch ,M+1,R,ql,qr);

pair<int,int>
l=query suf(node(k|.ch ,L,M,ql,qr),r=query suf(nodelk|.ch ,M+1,R,ql,qr
1S5
s.first=max(l.first+r.second,r.first);
s.second=1.second+r.second;
S,

int opt ;
int main

int n=read_int();
_for(i,0,n)alil=blil=read int();
sort(b,b+n);
int m=unique(b,b+n)-b;
_for(i,0,n
alil=lower bound(b,b+m,ali!)-b;
clali]].push back(1i);

build(root plelp M= 100
int pos,last=root ;

_for(i,1,n
_for(j,0,c[i-1].size
update(pos,last,O,n-1,cli-11[j1);
last=pos;

root/il=last;

last=0;
int g=read int();
q__

_for(i,0,4)optl[il=(read int()+last)%n;

sort(opt,opt+4);

int lef=0,rig=m-1,mid, ans;

lef<=rig
mid=lef+rig>>1;
query suf(rootimid!,0,n-1,0pt ,opt .first+query sum(root/mid!/,0,n-
,opt[1/+1,0pt -1)+query pre(root/mid|,0,n-1,opt ,opt first>=

lef=mid+1;
ans=mid;

rig=mid-1;
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enter(last=blans]);

gogd

0 O p4094

HEN

0000000 $n$ 0000 $S$0 $m$s 0000000000 $S[a,bls 0000 $S[c,dl$ O
$\text{LCP}$ 0O 00O O

HEN

0000 $S[a,b]$ DO OO $S[c,d]$ O $\text{LCP}$ 00 000OOOO0O $S[a,b]$ DO OO $S[c,dl$
0 $\text{LCP}$ 00O OO

000000000000 $x$000000 $ps 00 $\text{LCP}(S[p,b],S[c,d])\ge x$ 0 O O

00000000 $\min(b-p+1,d-c+1)\ge x$00 00000 0O $\text{LCP}(S[p,n],S[c,n])\ge x,p\le b-
X+1$[]

0000000000000 $\text{LCP}(S[p,n],S[c,nI\ge x$ 0 $p$ 000 $sa$ 00000 0OOOD0
0000000000000000

000 $sa$ 0000000000000 0ODOOOO0O0O0O $[ab-x+1]1$000

00000 $0(n\log n+ag\log”™2 n)$0 0 0 0O O $0(n\log n)$[]

const int MAXN=1e5+5,MAXM=30;
namespace SA
int sa/MAXN!,rk|[MAXN|,6height [MAXN],X[MAXN],Y[MAXN|,c[MAXN];
int d/MAXN|[MAXM|,1g2 MAXN];
void get sa(char *s,int n,int m
int *x=X, *y=Y;
_rep(i,0,m)clil/=0;
~rep(i,l,n)cix[il=s[i][++;
_rep(i,1,m)c[i]+=c[i-1];

int i=n;i;i--)salc[x[i]]--]=1;

int k=1;k<n; k<<=

int pos=0;

rep(i,n-k+1,n)yl++pos|=1i;

_rep(i,1,n salil>k)y[++pos|=salil-k;

_rep(i,0,m)clil/=0;
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_rep(i,l,n)clx[i]]|++;
_rep(i,l,m)cli|+=cli-1];

int i=n;i;i--)salc|x[yli --l=yli],ylil=0;
swap(x,y);
pos=0,y[n+1]=0;
_rep(i,l,n)x/salill=(ylsalil==ylsali- &&ylsalil+k|==y[sali-1]+k])?pos:++
pos;
pos== ;
m=pos;

_rep(i,l,n)rkisalill=1i;

void get height(char *s,int n
int i=1,k=0;i<=n;i++
k) k--;
sli+kl==s[salrk[i]-1]+k])k++;
height/rkii] |=k;

void build st(int n

192 =0;

_rep(i,2,n

1g2[i]=1g2[i>>1]+1;

_rep(i,1,n

di =height(i/;
int j=1; (1<<j)<=n;j++
_rep(i,1,n+1-(1<<j
diil[jl=min(d[i][j-1],d[i+(1<<(]- j- ;

int lcp(int lef,int rig
lef++;
int len=rig-lef+1;
min(d/lef![lg2/len||,d/ rig-(1<<lg2[len]|)+1][1g2|len ;

struct Node
int ch ,cnt;
node [ MAXN*MAXM | ;
int root/MAXN|,node cnt;
void update(int &k,int p,int lef,int rig,int pos
k=++node cnt;
node  k|=node(p];
node[k].cnt++;
lef==rig ;
int mid=lef+rig>>1;
mid>=pos
update(node k] .ch ,nhode[p!.ch , lef,mid, pos) ;

update(nodel|k].ch ,hode[p].ch ,mid+1,rig,pos);
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int query(int k1,int k2,int L,int R,int ql,int qr
gl<=L&&R<=qr node|k2|.cnt-node(kl!.cnt;
int M=L+R>>1;
M>=qr query(node|kl].ch ,node[k2].ch ,L,M,ql,qr);
M<ql query(node|kl]|.ch ,hode[k2].ch ,M+1,R,ql,qr);
query(nodelkl|.ch ,nhode k2| .ch ,L,M,ql,qr)+query(node|kl]|.ch ,hode | k2

.ch ,M+1,R,ql,qr);
bool check(int x,int 1,int r,int pos,int n
int ql=SA::rklpos|,qr=SA::rkipos|,lef,rig,mid;
lef=1,rig=SA::rkipos!-1;
lef<=rig
mid=lef+rig>>1;
SA::lcp(mid,SA: :rk|pos
rig=mid-1;
gl=mid;

>=xX

lef=mid+1;

lef=SA::rkipos|+1,rig=n;
lef<=rig
mid=lef+rig>>1;
SA::lcp(SA::rkipos|,mid)>=x
lef=mid+1;
qr=mid;

rig=mid-1;

query(root|ql-1!,rootiqgrl/,1,n,1,r);
char buf[MAXN];

int main

int n=read int(),q=read int();
scanf("%s",buf+1);
SA::get sa(buf,n,'z');
SA::get height(buf,n);
SA::build st(n);
_rep(i,1,n
update(root/i|/,root[i-1],
q--
int ll=read int(),rl=read int(),l2=read int
int lef=0,rig=min(rl-11+1,r2-12+1),mid,ans;
lef<=rig
mid=lef+rig>>1;
check(mid, 11, r1-mid+1,12,n
lef=mid+1;

,n,SA::salil);

,r2=read int();
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ans=mid;

rig=mid-1;

enter(ans) ;

gogd

[0 0 p3899

an

O0000%s00000000 $q$ 0000000000 %aksgooOOOO $(bc)$s0On

1. 00 $a,b,c$ 00
2. 00 %$000 %$bs000 $c$0 00
3.00 %$000 % 000000 $k$

an

O000000000Ug $h$s0 %000 %$2$0%b$s 0000000 $b$ O $a$ 0000000
0000 $(\text{sz} a-1)\min(d_a-1,k)$]

OO0 $2$0s%b$ 0000000000 $a$ 000000 $a$ 000 $k$O0DODOODODODOOODO
googd

0000000000000 000ooo0o0oooo0ooooogooDood $0d a+1,d a+k]s O
$\text{dfs}$s 000 $a$ 00 00O ODOOOODO

0000000000000 00000000oDoogooon $0((n+g)hlog n)$0

const int MAXN=3e5+5,MAXM=40;
struct Node
LL s;
int ch ;
node | MAXN*MAXM | ;
int root[MAXN|,n,node cnt;
void update(int &k,int p,int pos,int v,int lef=1,int rig=n
node| k=++node cnt|=node(p];
node k! .s+=v;
lef==rig ;
int mid=lef+rig>>1;
pos<=mid
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update(nodel|k].ch ,hode[p!.ch ,pos,v,lef,mid) ;
update(nodel|k].ch ,hode[p!.ch ,pos,v,mid+1,rig);

LL query(int k1,int k2,int ql,int gr,int lef=1,int rig=n

gl<=lef&&rig<=qr node kl|.s-nodelk2].s;
int mid=lef+rig>>1;
mid>=qr query(node|kl|.ch ,hode k2| .ch ,ql,qr,lef,mid) ;
mid<ql

query(node/kl].ch ,nhode[k2].ch ,ql,qr,mid+1,rig);

query(node|kl]|.ch ,hode k2] .ch ,ql,qr,lef,mid)+query(node kl].ch ,hod
elk2].ch ,ql,qr,mid+1,rig);

struct Edge
int to,next;

edge  MAXN<<1];

int head MAXN]|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|=Edgei{v,head|u]};
head|u|=edge cnt;

int dfs t,dfn[MAXN|,sz[MAXN|,d[MAXN|,inv_dfn[MAXN];
void dfs(int u,int fa,int dep
dfn{ul=++dfs t;
sz|dfs t|=1;d[dfs t|=dep;
int i=head|u];1i;i=edge!i].next
int v=edgel[i].to;
v==fa ;
dfs(v,u,dep+1);
sz/dfnlu] |+=sz[dfn[v]];

int main

n=read _int();

int g=read int();

_for(i,1,n
int u=read _int(),v=read int();
Insert(u,v);Insert(v,u);

dfs(1,0,1);
_rep(i,1,n
update(root/i|/,root(i-1],d/i],sz[i]/-1);
q--
int p=read int(),k=read int(),u=dfn[p];
enter(1LL*(sz[u|-1)*min(d/ul-1,k)+query(rootiu+sz|ul-1],rootiul,d[ul,min(d
ul+k,n ;
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ggd

00 p4l97

g

OO0 $n$000 $m$ 0000000000000 0ODO0O0O0ODO0O0O0O00O0OD0 $q$0000

000000 $v$ 000000000 $x$0000000000 $ks0OOOODO

an

00 $\text{Kruskal}$ OO OO OOO0ODOOOO0OODOOOOODOOOO0OOOOOOODODOOOOO
gbobogobooobooooon

OO00000O000O0bOoO0DO00obO0bOoooD0bobo0boooOobooOssCc0DOooDOoooOoD
goodoooogooda

0000000000000 000D00000000 $x$000000000D00OD00O00ODO0DO $x$
goboooooooooo

000000000000 0000DbO000 $text{dfs}$s 00000000 $k$sO0 0O DOOOOODO
00 $0((n+g)\log n+m\log m)$[]

oo oo o on

#define rch(k) node[node[k].ch[1]]
const int MAXN=1e5+5,MAXM=5e5+5,MAXL=80;
struct Node
int s,ch[2];
node | MAXN*MAXL | ;
int root/MAXN<<1],n,seg n,node cnt;
void update(int &k,int p,int pos,int lef=1,int rig=seg n
node| k=++node cnt|=nodelp];
node k| .s++;
lef==rig ;
int mid=lef+rig>>1;
pos<=mid
update(node/k!.ch{0],node!p|.ch[0],pos,lef,mid);

update(node/k!.ch!1],node(p!.ch[1],pos,mid+1,rig);
int query(int k1,int k2,int rk,int lef=1,int rig=seg n

int mid=lef+rig>>1;
lef==rig mid;
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rk<=rch(kl).s-rch(k2).s

query(node|kl]|.ch ,hode[k2].ch ,rk,mid+1,rig);

qguery(node|kl].ch ,nhode[k2].ch , rk-
rch(kl).s+rch(k2).s,lef,mid);

struct Edge

int u,v,w;
bool operator < (const Edge &b)const
w<b.w;
edge MAXM| ;
int alMAXN]|,b[MAXN|,p[MAXN<<1],ch[MAXN<< ,dfnMAXN<<

namespace LCA
const int MAXN=2e5+5;
int d/MAXN],anc|[MAXN]| MAXL]|,w! MAXN|,log2 [ MAXN];
void get log(int n
int log=0;
<<log)<n

int i=1l<<log, j=min(1l<<(log+1l),n);i<j;i++

log2/il=1log;
log++;

void init(int n

get log(n);
int j=1; (1<<j)<n;j++
_rep(i,1,n
lanc[i][j-
anclil/[jl=anclanc|i][j- j-11;

int query(int p,int k
int i=log2(d[p]];i>=0;1i--
anc/pllil&&wlancipli] <=k

p=anc/p!i];
p;
int Find(int x x==p[x|?x:plx|/=Find(p[x]);
void dfs(int u,int fa,int dep
lu ;
dfnlu =++dfs t;LCA::d[ul=dep;
u<=n

update(root/dfs t|,root/dfs t-1],alul);

root|/dfs tl=root/dfs t-1];
dfs(chlu ,u,dep+1l);
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dfs(chlu ,u,dep+1);
dfnlu =dfs_t;

int main

n=read int();
int m=read int(),qg=read int();
_rep(i,l,n)alil=b[il=read int();
sort(b+1,b+n+1);
seg n=unique(b+1,b+n+1)-b;
_rep(i,l,n)alil=1lower bound(b+1,b+seg n,alil)-b;
_for(i,0,m

edge/i|.u=read int();

edge(i].v=read int();

edge/i!.w=read int();

sort(edge,edge+m) ;
int cur=n+1;
_for(i,1,2*n)p[i]=1;

_for(i,0,m
int x=Find(edge!i].u),y=Find(edgeli].v);
x!l=y
piXi=plyi=cur;
chicur =X,chlcur =y;
LCA::anc|x =LCA: :ancly =cur,LCA: :w[cur|=edge(i]|.w;
Cur++;

_for(i,1,cur
'root|Find (i
dfs(Find(i),0,0);

LCA::init(cur-1);
q--
int v=read int(),x=read int(),k=read int
int rt=LCA::query(v,Xx);

.
’

node| root/dfn|rt .S-node| root|[dfn|rt - .s<k
enter(-1);
enter(b/query(root|[dfn|rt ,root/dfn|rt -11,k ;
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g

00000 %$n$ 000 %$a$0$q$ 0000000000 $b,xLrs000O $\max_{Ne i\le
r}(b\oplus(a_i+x))$0]

un

O0000DO0O00O000O0ODbDOoOoDOOobobOOss0nDooo
$\text{ans}=c_1lc_2c_377?,b=b _1b 2b 3b 477%[]

000000000 $\text{ans}=c_1c 2c_31??$00 0 $b_4=1$J0 $\text{ans}\oplus
b\in[d_1d 2d 3000,d 1d 2d 3011]$

00 $b 4=0$00 $\text{ans}\oplus b\in[d_1d 2d 3100,d _1d 2d 3111]$J0 $a=\text{ans}\oplus b-x$]
O0oooOoooOond

const int MAXN=2e5+5,MAXM=17,MAXV=1e5;
int root/MAXN|,node cnt;
struct Node
int ch ,SZ;
node | MAXN* ;
void update(int &k,int p,int pos,int lef=0,int rig=MAXV
node| k=++node cnt|=node(p];
node k| .sz++;
lef==rig ;
int mid=lef+rig>>1;
mid>=pos
update(node k! .ch ,hode(p!.ch ,pos, lef,mid) ;

update(node k! .ch ,nhode(p!.ch ,pos,mid+1,rig) ;
int query(int k1,int k2,int ql,int gr,int lef=0,int rig=MAXV
lef>qr||rig<ql ;
gl<=lef&&rig<=qr node kl|.sz-node(k2|.sz;

int mid=lef+rig>>1;

query(nodekl].ch ,nhode[k2].ch ,ql,qr, lef,mid)+query(node|kl].ch ,hod
elk2].ch ,ql,qr,mid+1,rig);

int main

int n=read int(),qg=read int();

_rep(i,1,n
update(root|il|,root|/i-1],read int ;
q__
int b=read int(),x=read int(),l=read int(),r=read int();
int ans=0;

int i=MAXM;~i;i--
int ql=((ans”™b)>>(i+l))<<(i+l);

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

update: 2020-2021:teams:legal_string:jxm2001: o ik cubbacm. com/doku.php?id=2020-2021:teams:legal_string:jxm2001:%E6%95%BO0%E6%BDYAE%ET%BBY%I3%ECU%IE%BA%ET%BBY%EI%EA%BI%A0_1&rev=1600566373

2020/09/20 oooood_l
09:46

b&(1<<i

query(root|r]|,root|[l-1],ql-x,ql+(1<<i)-1-Xx
ans|=1<<i;
query(root|r],root|[1-1],ql+(1l<<i)-x,ql+(l<<(i+ -1-X
ans|=1<<i;
enter(ans);
;
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